Version 1.0: 0606

AQA/

ASSESSMENT and
QUALIFICATIONS
ALLIANCE

General Certificate of Secondary Education

Modern Hebrew 3676

3676/L Listening

Mark Scheme
2006 examination - June series

Mark schemes are prepared by the Principal Examiner and considered, together with the relevant
questions, by a panel of subject teachers. This mark scheme includes any amendments made at
the standardisation meeting attended by all examiners and is the scheme which was used by them
in this examination. The standardisation meeting ensures that the mark scheme covers the
candidates’ responses to questions and that every examiner understands and applies it in the
same correct way. As preparation for the standardisation meeting each examiner analyses a
number of candidates’ scripts: alternative answers not already covered by the mark scheme are
discussed at the meeting and legislated for. If, after this meeting, examiners encounter unusual
answers which have not been discussed at the meeting they are required to refer these to the
Principal Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed
and expanded on the basis of candidates’ reactions to a particular paper. Assumptions about
future mark schemes on the basis of one year’s document should be avoided; whilst the guiding
principles of assessment remain constant, details will change, depending on the content of a
particular examination paper.

Copyright © 2006 AQA and its licensors. All rights reserved.



Modern Hebrew - AQA GCSE Mark Scheme, 2006 June series

LISTENING TESTS

Notes on the Marking Scheme

Non-verbal Answers

Follow the mark scheme as set out.

Verbal Answers (English or Target Language)

The basic principle of assessment is that candidates should gain credit for what they know, understand and can do. The following guidance should be borne in mind
when marking.

1.

(a)

(b)

(©
(d)

(e)

Credit should be given for all answers which convey the key idea required intelligibly and without ambiguity. This applies whether the answer is in English
or in the target language. A separate assessment of spelling, punctuation and grammar is not required on these papers because of the nature of the answers.
However, these aspects are an integral part of assessing communication and marks cannot be awarded where errors in spelling, punctuation or grammar lead
to a failure to communicate the required information without ambiguity.

Where a candidate has given alternatives or additional information in answer, the following criteria should be applied:
- if the alternative/addition does not contradict the key idea or make it ambiguous, accept;
- if the alternative/addition contradicts the key idea or makes it ambiguous, reject.

Where numbered lines are given within a question/section of a question, credit should be given for correct answers, no matter which line they appear on.

Where a question has more than one section, a candidate may include as part of the answer to one section the information required to answer another
section. For instance, the information required to answer section (b) might be given as part of the answer to section (a). In such cases, credit should be
given for having answered section (b), provided that no incorrect answer has been given for that section in the correct place.

Where a question or part of a question carries more than one mark, candidates are given credit for all the correct answers they give, even if they have given
incorrect answers as well, except where any of the latter contradicts a correct answer that they have given.

..... /..... means that these are acceptable alternative answers. (.....) means that this information is not needed for full marks.

In questions where candidates are asked to name, for example, three types of vegetable sold in the market, only the first three items they write down should be
considered.

In multiple choice questions where candidates must choose one letter or number, they should automatically get no mark awarded if they give more than one. If the
rubric instructs them to write one letter or number in the box and they do so, but write a second letter or number outside the box too, then the answer in the box
should be considered.

No mark scheme can cover all possible answers. When in doubt:

look for the key idea, where this is appropriate.
t.c. = tout court NFP = no further penalty
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LISTENING TEST
Question Accept Mark Reject
1(a) 16 (years old) 1
(b) He has a sister 1
(c) 1) a cat 1
ii) | white 1
(d) swimming 1
(e) Thursday 1
2 ) - VN 1
V- Iy 1
1 - NPy 1
N - N7 1
3 DY9pYW 110 - D>>DIdN 1
DYYPY 38 - NAdIY 1
DYYPY 13 - DY>29) 1
DYY9PY 65 - MWW 1
4 'Yy Tn | roomvw on o

PARS YD)

aon PR

DY119N XN aANYO
a3V Pkl 4
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Question Accept Mark Reject
5 ) -.N 1
N -.2 1
6 4 - NNYIN 1
8 - Y ymn 1
2 - N 1
6 - 902 1
7 Y - NN 1
Y - )2 1
7 - MINN 1
2 - NDID 1
8 )2, T, 3
9 1 -.N 1
10 - Y93 .2 1
91 N5 yaNa n8vIN /7 AYI NS NNYIN D> TH 1
O)YN YANI DOODION / B PIH DXODIMN 1
IV - DI NIIINND DYII DN 1
10 ) (1 1
2 (2 1
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. Question Accept Mark Reject
11 1 - mam 1
6 - 21°IN 5N 1
7 - DOV 1
3 - NOON 1
12 11I0XONY T9IN - 2w DY 1
(D2I0PN) DIXNRD DY MY - SV OV DY 1
NDADY NID NN PN /IPAY TN - dyran DY) 1
13 N - DM 1
1 - M 1
Y- MmN 1
n - 5y 1
) - NITY 1
14 (1) Any two of:
/ DOPPA YINX / N3O DA PIRY / DTPHIN DOnnnd 51
NN NYI0IN )
MY (NYINNY) ¥ran
1
14 (ii) D?)2NY /DYDYID DIYDIIN
14 (iii) vYnvwa 1Nt D290 100N 0N /NN DIAIVIND D 1
15(a) Happy / thrilled / excited / proud 2
15(b) because it is for her sister’s wedding or
because it is the first time she has bought a long dress 2
15(c) Red: joyful / a happy colour / a festive colour / suitable for a wedding
Black: a more fashionable colour / a more serious colour 2






